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1. Select the most appropriate meaning of the given idiom.
Vanish into thin air

(A) To postpone something

(B) To begin suddenly
(C) Toremove suddenly
(D) To completely disappear

Answer: d
2. Select the option that will improve the underlined part of the given sentence. In case no improvement is needed, select 'No
improvement required'.
If you had listened to me, you will not be in trouble now.

(A) will not have been
(B) would not being
(C) No improvement required

(D) would not be

Answer: d
3. Select the option that express the given sentence in reported speech.
“Anant, are you coming for the class picnic Sunday?” Shekhar asked.
(A) Shekhar is asking Anant if he is coming for the class picnic this Sunday.
(B) Shekhar asked Anant whether he was coming for the class picnic that Sunday.
(C) Shekhar asked Anant whether he had come for the class picnic on Sunday
(D) Shekhar asked Anant whether he will be coming for the class picnic this Sunday.

Answer: B
4. The following sentence has been split into four segments. Identify the segment that contains a grammatical error.
Will'you / care for / a cup of / hot coffee ?
(A) A cup of
(B) care for
(C) will you
(D) hot coffee

Answer: C
5. Select the most appropriate meaning of the given idiom.
A snake in the grass
(A) An unfortunate accident
(B) A hidden enemy
(C) A sudden death
(D) A good fortune

Answer: B
6. Select the most appropriate option to fill in the blank.
Can you arrange for the consignment ------ delivered on Monday?

(A) Is
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(B) being
(C) to be
(D) for being

Answer: C
7. Select the INCORRECTLY spelt word.
(A) Pamplet

(B) Accessories
(C) Dominant

(D) politician
Answer: A
8. Select the most appropriate synonym of the given word.

Austere
(A) Mitigating
(B) promising
(C) brisk
(D) stern

Answer: D
9. The following sentence has been split into four segments. Identify the segment that contains a spelling error.
The conferrence / attempts to / trace the processes and / consequences of climate change.

(A) consequences of climate change
(B) trace the processes and

(C) attempts to

(D) The conferrence

Answer: d
10. Select the most appropriate synonym of the given word. Precise

(A) Ambiguous
(B) Accurate
(C) General
(D) Vague

Answer: b
11. Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a meaningful
and coherent paragraph.
A. In fact he began his career as a peon in a small firm.
B. Before he joined us as the accounts officer, he was a junior clerk.
C. He learnt typing, accounting and even graduated.
D. But he gradually improved his qualifications.
(A) CDAB
(B) BADC
(C) CBAD
(D) BCDA

Answer: B
12. Select the most appropriate word for the given group of words
One who draws or produces maps
(A) Designer
(B) Photographer
(C) Cartographer
(D) Draftsman

Answer: C
13. Delhi’s meteorology (1) ----- the quantity of chaff burnt play a greater role in (2) ----- air quality than the time chosen by farmers in



Punjab to start crop burning, a study argues. Crop burning, a traditional practice In Punjab and Haryana of (3) ----- fields off rice chaff to

prepare for winter sowing , begins around October and (4) ----- in November, coinciding with the (5) ----- of southwest monsoon.
Select the most appropriate option to fill in blank number.1
(A) Among
(B) and
(C) but
(D) yet
Answer: B
14. Delhi’s meteorology (1) ----- the quantity of chaff burnt play a greater role in(2) ----- air quality than the time chosen by farmers in
Punjab to start crop burning, a study argues. Crop burning, a traditional practice In Punjab and Haryana of (3) ----- fields off rice chaff to
prepare for winter sowing , begins around October and (4) ----- in November, coinciding with the (5) ----- of southwest monsoon.

Select the most appropriate option to fill in blank number.2
(A) Worsening
(B) worsens

(C) worsen
(D) worse
Answer: A
15. Delhi’s meteorology (1) ----- the quantity of chaff burnt play a greater role in (2) ----- air quality than the time chosen by farmers in
Punjab to start crop burning, a study argues. Crop burning, a traditional practice In Punjab and Haryana of (3) ----- fields off rice chaff to
prepare for winter sowing , begins around October and (4) ----- in November, coinciding with the (5) ----- of southwest monsoon.
Select the most appropriate option to fill in blank number.3
(A) Razing
(B) racing
(C) rising
(D) raising
Answer: A
16. Delhi’'s meteorology (1) ----- the quantity of chaff burnt play a greater role in (2) ----- air quality than the time chosen by farmers in
Punjab to start crop burning, a study argues. Crop burning, a traditional practice In Punjab and Haryana of (3) ----- fields off rice chaff to
prepare for winter sowing , begins around October and (4) ----- in November, coinciding with the (5) ----- of southwest monsoon.
Select the most appropriate option to fill in blank number.4
(A) Falls
(B) creaks
(C) leaks
(D) peaks
Answer: D
17. Delhi’s meteorology (1) ----- the quantity of chaff burnt play a greater role in (2) ----- air quality than the time chosen by farmers in
Punjab to start crop burning, a study argues. Crop burning, a traditional practice In Punjab and Haryana of (3) ----- fields off rice chaff to
prepare for winter sowing , begins around October and (4) ----- in November, coinciding with the (5) ----- of southwest monsoon.
Select the most appropriate option to fill in blank number.5
(A) Running

(B) withdrawal

(C) availing
(D) managing

Answer: B
18. Select the option that can be used as a one-word substitute for the given group of words.
Release someone from a duty of obligation
(A) Banish
(B) Exonerate



(C) Dismiss
(D) Expel

Answer: B
19. Select the most appropriate ANTONYM of the given word.
Bleak
(A) Dark
(B) Grim
(C) Cold
(D) Bright

Answer: D
20. Given below are four jumbled sentences. Out of the given options, pick the one that gives their correct order.
A. One day the tailor and his wife discovered that their son was not in the house.
B. The father went to the roadside and shouted , “John!”
C. No one answered .
D. They looked in the garden, and did not find him threre.
(A) ADCB
(B) BCAD
(C) CBAD
(D) BADC

Answer: A
21. Select the option that expresses the given sentence in active voice.
By whom can the problem be solved?

(A) Who can solve the problem?

(B) Whom can solve the problem?
(C) Who can solved the problem?
(D) Whom can solved the problem?

Answer: a
22. Select the most appropriate option that can substitute the underlined segment in the given sentence.
No sooner had I finished my final exam that my friends invited me to join them on a trip to Europe.

(A) that my friend invited
(B) than my friends invited
(C) when my friends invited
(D) then my friends invited

Answer: b
23. Identify the segment in the sentence which contains the grammatical error from the given options. Character build should be

an integral part (1)/ of every aspect of schooling and learning as it (2)/ equips one to find long-term solutions to life’s challenges. (3)/
No'error (4)

(A) 1

(B) 2

(€ 3

(D) 4

Answer: A
24. Select the most appropriate ANTONYM of the word in brackets to fill in the blank.
Since she had never travelled abroad, she was both (CALM) and nervous for her upcoming trip.

(A) Excited
(B) Apathetic
(C) Hyped
(D) Hopeful



Answer: A
25. Heisverygood................ making stories.

(A) in
(B) about
() at
(D) for

Answer: e
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26 . taNO + 3cotd = 2\/§§w0 <6 <90°, _cosec’d

4

B A AT DI |

(a) 3
2

(8) 3
1

(c) *
:
(D) ©
Answer: A
1

27. 7.5x17.2 +8.6 +(59.5) of 17 2 5 o1 a7 7m0 #40

2| =]

(A) 2
(B) 3
(C) 4
(D) 1

Answer: d

28. vuw fafga w&ar & 7 Ssr Snar @ AR Aer F 5 F o FRAr Swar @1 R avEewa w3 @ Renfoa R smar
¢ 3R 4 F AT A { gerar SArar g1 I RO 16 AT &, @ qo wEw 7w 2

(A) 1
(B) 4
(€) 3
(D) 5

Answer: d
29. @ sfieart & dw wF g A, vE FHleaR @ ST aIw Aal #1 64% WIod €T §,9F 252 AAl & agAA &
faifae @var 81 s 7w Fat A Fo wEA B 82

(A) 850

(B) 900

(C) 800

(D) 950

Answer: B

1
13-%
30. UF GHEGR TF a¥q HI 2 g W audar 81 I a8 S0 1274 ¥ & Juar §, aF 3W 11% FT AW



AT ¥ IFG FT FA-HeT FAT 872
(A) 4874
(B) 5200
(C) 4800
(D) 5274

Answer: B
31. 18% 3R 22% # FAF T FAT T F TR B

(A) 36.04%
(B) 35.04%
(C) 34.04%

(D) 37.04%

Answer: A
32. frde i At aRAT H v Tedarer #1 tad 58 W AT §1 61 FT tWa TER wrtd W F O 3@ gudt ol &
fFaat I F1e gl

(A) 69

(B) 88

(C) 79

(D) 100

Answer: B

33. 9%9eY U (¥ THgefd) W Ay FA W v A 2 aut F T@F F1 1.96 T @ I §1 AEF @ T
T 87
(A) 40 wfaera

(B) 20 wfaera

(c) 309faera
(D) 25 wfaera

Answer: A
34, WEAT 24,192 3R 27 F TGUETI T HfSC |
(A) 170.67
(B) 216
(C) 162
(D) 108

Answer: B
35. 3mfeca 31 Ther &AM 31250 . 3T 37500 %. ﬁa‘arﬂwwﬁﬂﬁaﬂt—rmﬁﬁl Y 9 HAE di¢ TR F

37197 8 ST 1 Ife arf¥es omeT 36100 . 86l 3TH & 3nfecy 1 Ear F=aw g 2
(A) 18000%.
(B) 20000%.
(C) 21000%
(D) 19000%.

Answer: D
36. U=y A fHd &b B 36 A # R Hoar © iR ursy B $9 45 fiFe # @rell B aahdr
T | I T UTSyl DI Ud A Wiel oA ST ®, A b @r e eHaT Bl WRA H o



AT |FHY (8t #H) &
(A) 2
(B) 1.5
(C) 1.25
(D) 1.75

Answer: B
37. 84 km/h & 7 § Toet aTeN g x fATd fGem # 52 km/h $ afy @ glsclt g€ q@l & y A 12 FFs A AN
FT AT §] PR y & da$ x Y Q-AgE & A x A d9$ FAr {2

(A) 250

(B) 272

(C) 408

(D) 242

Answer: b
38. Uw 8 WHl BsAT A 3 UTg F Aok F NS vF AT IHAYET FIE AT aR FAA AT §] ARG AW A
aars 24 HAex g, o s B (B A) &
(A) 6
2
6_
® 3
sl
© 3
(D) 5

Answer: cQ

52\
y
B {. __:..':
f
D / i " E
39.
£ Z
SR mafa #, BO sk CO, wwer DBC SN BCE @ BV AAGIIHISTD & | X DT AT S BT |
o
(A) 64
o
(B) 52
o
(C) 54

4]
(D) 58



Answer: A

40. TP JBR Ud B &6 Th VO BRoTeR Hed Rt yomg 110 m, 600 m sk
610 m ¥, & e=wa & 7/15 (seven-fifteenth) & o SRR 8 | U &1 @ fhae
2?

22
m=—
( 7 9
(A) 160 m
(B) 120 m
(C) 150 m
(D) 140 m
Answer: D
x3
41. 3IfE x-y=8 31T sxy=8,dY 2° -2y &1 AT FT &?
(A) 1608
(B) 1072
(C) 1092
(D) 536
Answer: B
1 1
N A6
42. R N+N-ovzar v+ N 111 &1 s wa Ao
(A) -11
(B) 11
(c) -2
(D) 9
Answer: D

43.

44.

45,

2 2 _ 3 3
RXTTY 45@?;{ y Sgﬁx y
(A) 250
(B) 275
(C) -25
(D) 150

BT AT ST DN |

Answer B
1+sec 1+sm
) ( )

1+cosA

1+cosec’A

( FT AT 4T &7

(A) cosec®A
(B) tan?A
(C) cos?A
(D) sec?A

Answer: B
15

gfgtan F = 8 aY sin F + cos F &T AT AT &2
23

(A) 17



22
17
20
17
21
17

(B)
(€

(D)

Answer: A
46. ABCDU& THIT T ¥, ABTd FT AT g1 IfG FIOT LACD=45° ¥, A LBAD FT AT T §?

(A) 35°
(B) 90°
(C) 135°
(D) 45°

Answer: D
47. f&d g # AB 3R DC a1 Sitar €1 w9 AB 3ik DC &1 dgrr oiim &, af 9 P wR fierht 21 afg PC=2.8.cm, PB =3.15cm ik AB =3.85
cmg arCD="?

(A) 7.875cm

(B) 6.975cm

(C) 5.075cm

(D) 4.175 cm

Answer: C

48, farafaf@a &5 ara@ # a¥ 20182022 # HRA @RI AT v AT Iarar & AT (AT kg #) F AT =97
g1 & a1$ A A, wgeran e stea ata @ fraa gfaera &7 82

LR

e
Lo00ad 4

ES000
g -
]
| arnen
0y -
20000
20000
., &
208 X mE

Wi Bl

Grains | in million kg

fears

a¥ (Years)

3elTst (Grains)
(A) 67.74%
(B) 88.25%
(C) 77.25%
(D) 38.44%

Answer: A

49. i U v 3@ 3w A 9T FUAAY @Rt 915F (Bike) AR TF (Truck) F 3cdre 1 AT 4T B



!;'il'l
R, BOO 48
B 00 2+
[ B . I
- .
- . —
300 - ~* ol
A
L]
K 5 | LU v
o ke & Truck
fArfaf@a & ¥ slaar sy ad@ a8 v

1. @8l 5 Fufaal ganT g F1 Fo 3curea weft 5 FulAal qERT ABF F FA AR FT 201.50 v B
Il. FUht REERT a5 3R gF F1 3wa 3eaeT 800 B

(A) Tardad

(B)  ael |

(€ |3 1 gt

(D)  ael |l

Answer: B
50. vt = &1 uimat frwar 30 km/h @ ara § 93 A @, e @ens aEn 25 km/h @ @re 9 iR 9w 60 km/h &) = 8 qF @ e 2 9
g3 Fr | sfa =t (km/h 4, Ue SeMeld Wi & |el) a1
2rf?
(A) 40.5
(B) 30.6
(C) 25.4
(D) 38.7

Answer: D

51. HRAA ISR & TS THAT TF THIRIT T 82

(A) FSTAT AT
(B) farer3mater

(C) UeT. TH. TH. 3.
(D) J. . T

Answer: C
52. ‘ds—su @f1 feas fvar @ sRor 9= Bidl 87
(A) ¥ ifa
(B) ®ws
(C) =<=
(D)  uTATelY

Answer: C
53. ot @srr B3 w8 srar o -

(A) 3NEerere
(B) HsFceE
(C) wmmERER

(D) wargRema-II



54.

55.

56.

57.

58.

59.

60.

Answer: C

1967 ® #RA & Wiyuer & Torsmwiat Fr ¥ A Pewfaf@a § & Fla @ s Fr afdre frar = ar?

(A) ST
(B) Tyl
(C) dd
(D) affa

Answer: b
Nar F1 amw arw Gy g A & Bar smar g
(A) BT
(B) #Tg
(© ==
(D) S

Answer: c

fafPaam swa 3 e qu & @9 o Rafea a7 2
(A) =T

(B) TTeTEer

(C) iTer

(D) it

Answer: c

AR 94dT PR HART & fohE T H §
(A) IT¥IH ST

(B) e

() 3R@s

(D) AfferaTg

Answer: B

AT TR A fFw o aF grasr 3R FguRr W ARG F1 J&7 AT A F1 faora foar §2

(A) 2025

(B) 2030
(C) 2035
(D) 2045

Answer: b

IR ST 2024 § AT I8 TR | Fohe €19 9 T@T72
(A) 708
(B) 71
() 72F
(D) 73§

Answer: b

LEHIT 7 31 AT, 2027 T IAAT H Tt "TETAHAT AT STTuTe g’ @i &7 989 @T 872

(A) 15000
(B) 20000
(C) 25000



(D) 30000

Answer: C
61. e T=T % O T Sfi< aqqem i &0 strems, &1 faar 19 872
(A) 9STTer

(B) ghamum
(C) ST I=aT
(D) HET TR

Answer: c

62. ATYA HT STAIOET 2011 F AAT, 7w U Gawent § & o w57 § Ha€ w7 AreA7ar a7 &S gs A7

NERIEEREN

() ghe=Tom
(C) HETAT
(D) ITES

Answer: A

63. AT feAT & forg arer & A sifaw arett fhae #r ofr?

(A) Rs.16,000 FIE
(B) Rs.18,000 FIE
(C) Rs.12,000 FUE
(D) Rs.22,000 FIIE

Answer: B
64. AT Gt & Fetated § 4 e aq=es § 78 auiF & (& gt @9y F ger 1@ 37 Za1 & 32 AT 919G & IdT
AT FT Fd=T 872

(A) TT=23 51A (i)
(B) =g 51A (f)
(C) sIg== 51A (k)
(D) == 51A (d)

Answer: A

65. erteifea & & fr Faomror wore & Rxor i S soriaat (ST, 9 s Hiqer) F saa e 82

(A) T2 (Patne)

(B) TSH (Kodekal)

(C) r=am™T (Didwana)
(D) <frasreaT (Bhimbetka)

Answer: B
66. FEfrfed & ¥ F9-97 a1 I # A 97 gIe g5 AT 3T« FHIAT 8?

(A) ATSIISIT STEAFTES
(B) FTa STSHFATES
(C) =rHrfa=T

(D) THT STEAFATIE

Answer: C



67. ATIA & STl qETHT § 9T T Gqeor #1 gy €9 FufiEd § § wb-ar 82

(A) g TF | TIH £ A et JTT 2
(B) g TF F Ui T AT Fgdl JrdT 8
(C) Ig IX & H U a9 faraor grar gl
(D) =g Ui & I A AT =TT T 2

Answer: A

68. fawforfea & & faeett o qoam 7 o= 3T oig 1 i s

(A) TATHLT ST
(B) TFHEIT Toqaraer
(C) HATEF e

(D) HAATS=IA faers

Answer: A
69. MHfciiead Fdtes Sraael § § FiI AU T F qaT 7 & &I H, T 3T TEha AT | S0 THATHSE TR & (o0
STTHT STTT 872

(A) HEaTHT EHferare
(B) TS
(C) =¥ =TT

(D) TETEH

Answer: B
70. ag S« fafer s e g1 59F S Ic0 #iXd § GeH gIaT &, SH-——- Figl ST gl

(A) S a7
(B) TETIOr
(C) At ST
(D) A==

Answer: C
71. = & AT A€ TATSAT UH---- Bl
(A) STITHT TE
(B) T TAFLIT ATAT IRTEHIA 9
(C) smeera e FSHH A AT ZAFLIA ATHI( L HeAT § 2 &
(D) o 3T ¥ & = it srawT

Answer: c

72. DIty ¥ Ye Wik o fafe@T (St. Francis Church building) WWWEW?

(A) 1609
(B) 1510
(C) 1618
(D) 1503

Answer: D

73.  dfe} 3R 39 e vl & Wed # Fafifad # ¥ wiH-a1 g TTerd 82
(A) T - fRHTea ue=



74.

75.

76.

(B) oM - ORI
(C) TPITI - HERTY
(D) ST IR - oA

Answer: D

et & & Fr-a7, arforsas S #7 fGdas w1 2?

(A) Z=IT J&T9 FAT (Advancing lo)

(B) ST @At STHTU T TRTT AT (Opening of current account deposits)
(C) HTafdr STHTY T =TT FLAT (Opening fixed deposits)

(D) TSIHT % &1 FTAT (Performing agency.furictions)

Answer: D
AT AT G (e g STadRT 1 &7 =iy 3 9t 37 9% gam 22

(A) FIESTIZHT FHIeeTH, ITNTHET T AFTHLT gL
(B) |TSAT ST gady o A= T[T Aar
(C) TrETadt ST FourT Ffet & faeae

(D) T, ATARAT-garelt 94t o (EfadT ¥ SATEIETE %)

Answer: D

IR A+BRT AT & F ABHFT S S AxBHRT IT T F ABR T@ga S A:BF 3T & F A BFHT Rar g ar

frfaf@a & ¥ Fi °a1 U9 I8 AERT Fa1 ¢, F P, RFT 4E &7

77.

(A) P+Q=+R
(B) PxQ+R
(C) P+RxQ

X
(D) P+Q” R

Answer: D
39 fawew @ gfav Owd wead 1 FEAC T WU G Fdt ¢ S RU I e A st qan wwn

o Smar §1 (YA & WEAit F 3AF uew Il H Jerer Jerer R R, quf gt v afead i et el sen
13-13 W WRFATE S 13 Y ST GS/AON FIAT T AT ST wFAT 1 13 FY 1 €G3 F T w6 A 3R e
Td 3 W A0 @R FR i A Al )

(36,99, 106)
(72, 207, 214)

78.

(A) (48,125,132)
(B) ( 64,193,200)
(C) (52,157, 164)
(D) (24, 63, 70)

Answer: D

39 Ased #1794 F S IUd IR-TAE @ 34 IHR FOd § O THR qEU - GAF Tee AN WE W

wafte ¥ siiv @tar saR-werg e aER W ¥ Wt ¥
MAGNET: AMNGTE:: FAMILY: AFIMYL:: BLOCKS: ?

(A) OLBSKC
(B) LBCOSK



(C) LCBOSK
(D) LBOCSK

Answer: B
79. g A ffig Co ufem # 15 mw Reg 21 fig B, fig C & SRk # 22 m R Rerd 2|
fig D,fdig B & qd # 18 mw Rera 2| fig E, fdg D & <faror # 11 m w Rerd g
fig X, fig E@ uf¥=™ & 33 m w Rerd 2|
fig A9k fig X & @ & gam g8 R 22
(A) 22'm
(B) 10 m
(€) 11 m
(D) 3m

Answer: C

80. IR reg CONSTRUCTED ¥ ¥t TaX 3a7& JuiATaT & 3T e @ wfaewiRa &% R se qur gsf suorer
3% JUTATT & Jgd HeT & yfaeaiRa &7 Y e, af e RAY T 9 a7 3reW 47

(A) R
(B) Q
QP
(D) M
(E) NONE
Answer: D
81. fwafaf@d & & T REal F1 3muw & 3K T FEAHT F 399 # sgaa W AT =4
HHIFIOT WEr & SATeem?
25-10+5+15%x30=55
(A) x3iR < 30 3 25
(B) =3 + 15 3R 10
(c) x3X -, 15 3iX 10
(D) + 3R -, 5 3k 10
Answer: c

82. 39 fa®eq &1 I¥T F{ oY 37 3R FT Ffafficg Far &, oeg AT Ru v Reg Ty=i & FAF W A 0 &
Qe TW S 9T & H@elr gt gt et
__BFGDM__G_MBF_D_B_G

(A) DFBMDGMF
() DMFBDGMF
(C) DMBFDGMF
(D) DMBFGDFM

Answer: C

83. R 7w fawedl ¥ ¥ a7 we gfav N Mw=faf@a Aol & gewars g () & Tue 9 3w T 3
298,217, 168, 143, ?

(A) 128

(B) 138

(C) 112

(D) 134

Answer: D
84.  uH A oA wn g, owH @ vw ug d o1 v wv RAeedt & & 97 w8 Awew gfaw, N sqwa ;1 qu =
DMT, JOB, PQJ, VSR, ?



(A) ZYM
(B) BZY
(C) BZM
(D) BUZ

Answer: D
85. W fadeu &1 7@ &Y il W ®U A Raq v o1 gfd s g H@an S G B |
225, 269, 324, 390, ---------

Answer: D
86. fawifha AfeTrd &1 LAWYEH Ieada F K R T Revedl & § 37 &I F1 997 F o $0# wodA st
()% TUIST 9T 3T FhaY &l
12 8100

18 6111

15 4 2

(A) 102
(B) 78

(C) 62
(D) 108

Answer: C

87. fawt pfadl # FLTST & TH THS F AlSA FT HA ( Apfa A) FRAT 7947 § X A3 §T FIST A FEeA A
fafer (amsfa 1 fr)a'?ﬁ??ré%lWﬁarqmmﬁsﬁm(u)%E?guwﬂmﬁmﬁmmﬁ|

(A)
YRS,
o
FI O o .8
AL A\
\/ .Vf




< 7
O
O v QIS v Gl leon(

88. & 7§ gl A Rraer Frspr &2

N

(A) 13
(B) 12
(€ 11
(D) 14



Answer: D
89. IfX ww adur A Y@ AB W T@T T, @t fawew ampfaal ‘#ler-dt snwfa wear ansfa w1 @
wfafda g
ZE
Bo

(A)

S
~

)
Q

(B)

Ole
N\

O|&
X

Ole
/!

Answer: B
90. W af@m P, QR STNTSR A ARG A W G iF AT EIP, ST A A5 fbg T & 78| Q, R & &1 # da1 8 o & w9 9
P F 2| P S AV 93T & 3R T,Q & a¥et | T8 J°7 B AI?

(A) P

(B)

(€) R

(D) T

(E) war =&} &= A

Answer: a
91. s ff"=q g 9w §, ‘DELIGHT’ &1 ‘ZBACRYX’ & ®u # forar o 2, ofiR

‘STRANGE’ & ‘YATUXZY’ & %9 # forar 5rar & | $%i) 991 % -“STUMBLE’ @1
fra wu # forar Smem?

(A) KQGOSzZM

(B) YFGSOZM

(C) YVQASYZ

(D) YRVSAZY

Answer: D

92. i Ru v e & F& Fuq IR 39F 1€ 37 FYA W U Fo faswd R v & R 7w Fyat & w@
AT, 8o ) 398 FAET: A a2t @ Bieaar @11 '@ sy 9 i R AaiiRa & F sl @ Fswy, e v FaEt



FT AEF T F AT FIS F

hYe:

1wy m, A gl

Il. ;S A RTE T

forsay:

.S M, RTE B

LTS A, MBI

I.F5 R,AFI
(A) | a@ur Nl =t s serERor Fe §
(B) 1 4T Il QY forsshy IreTERor A §
(©) 11 a4 11l At sy e F
(D) Wt forswd sreTERor A

Answer: B
93. 39 RwFed F1 gua HAfGw, AN Re v e=al & W T8 FA F1 AT F@T §.
Usgahier A AN
1 Cartoon2 Carrier3 Carryingd Carousel 5 Carnival 6 Carriage

(A) 5,4,6,3,2,1

(B) 5,4,2,6,3,11
(C) 5I1I416I2I3)
(D) 5I4I6I21311

Answer: d

94, 3IF AT IR FT 9977 HY o AeAfai@d § T a9 ) Fgafad & T gaiar gl
A T Qo AR, FUE, WEU

(A)
(B)

(€)
(D)



O
O

O

Answer: C

95. afX 1 9, 2000 BT HIGAR o, A1 31 S 2000 HI HiT—dT1 & FI0 ?
(A) Xfeam
(B) HI¥ AR
(C) ATeraR

(D) geraR

Answer: C
96. U 9V fAshedl H A 38 3MHA F T FY ST fae=T mpfa-e@er &
qRATIEST (?) S TUTT T 3T Feholl &7

rardritig

A) .

(8) .
.

(€)

(D) .

Answer: B



97. afe I wR quiHrer & ger far WY, @ ®i9 41 iR 159 = wR g ?
(A) R
(8) T

() Q
(D) S

Answer: D
98. us e Wi # TOUCH &1 UTOHC & wu # forar srar 2| st wmor # PLANT &1 g yor & forr smgan?
(A) TPANM
(B) TPNLA
(C) QMBOU
(D) ALRPT

Answer: B

99. (:)& srft T RT v eg fFAY 7 fFdY aF/ATaA/AayT & GafT & A aH/AgA/aeay F 3R | e v
fsedi & @ () & arft AR qed weg e FA F glAT |
FoETS! : THTERT &2 ?

(A) e Rfvcas: THEdd

(B) FaTel : FsTGY

(C) o@®: 9T

(D) RfFcEs: RITHT

Answer: B

100. fiu 77y e &1 LAY I X 3R S W& BT IIT B, Sl 398 yearasd e (?) o gfasenfia
I Fh B |

14 225
1842 11
22357

(A) 9
(B) 12
(€) 7
(D) 8

Answer: D



